B

| ORIGINAL PAPER |

Py = —1ﬂ] o Yis equ
[y = tan [l_r . then o equal to ......

z i
W (0) T
1—x* 1
(c) Lx? () L+xt

If y = log(tan x), then i—: iscqualto ...

(a) 2 cosec2x (b) 2sec2x
(¢)2sin2x (d) 2 cos 2x

If y=cos 'x and z = sin! V1 = %2 then :‘;—: s

equalto ......

(1) — (b} |
1 X
()72 | (d) | —x2
Ify = e?*, then %{:T‘ is equal to ...
(a) —2e* (h) —2e?*
(c) —2e ¥ (d) —2e*
2,

If Jx+y+/y—x=12, then ::—l“" is equal to
() 1 (b) 2
() 1/2 (d)y =2
lim, 4 I_;+i isequalto ......

1
(4) 0 (b)2
(«.‘)4l ()1
limy er(x — VX% + x) isequal to ......

1
{(a) > (h)1
1

{c)—1 (d) —3

_f dx

xlog x log (log x)
() log x (b) log(log x)
(¢) log(log(log x)) (d) (log(log x))?
[x*(1 +logx)dx isequalto ...

iscqualto ......

(a) x¥ (b) x* log x
=X -.r.l
(c) g x (d) .

10.

1.

13

14,

15.

16.

17.

18.

19.

dx isequalto ... ..

{a) 12/5 (b)y—=12/5

{c) 16/5 (d)y—16/5

Let A and B are two disjoint subsets of a universal
set E. The (A U B) N B' is equal to

1 x
J'[] {1=x)1

() E (b) ¢
(C)A (d)B
. (A-B)—-Aiscqualto ......
(1) ¢ (by A
(c)B (dyANA

Let 10 is the cardinality ol set A. The number of
bijective mapping Irom set A to itself’is ...

{a) 10 (b) 55

{c) 100 (d) 3628800

Let 1 be a positive decimal integer. The number of
digits in nt 18 equal to . ..

{a) ’_]l)gm .'1—|+]
(©) [log,gn]

(b} Llugm HJ+|
() I_lngmnj

Let cardinality of the set 4 and B are 2 and 5
respectively. The number of relations from A to B
1S ...

(a) 1024 (b) 1000

{c) 1010 (d) 1025

Let f:R = R. g: R = R be two functions given by

f(x) =2x -3 and g(x) = x/2. The (fog) ™' (x)
isequal to.......

() ‘f‘ (by x + 3

(c)2x+3 (d)2x— 4

Let f:R = R is defined by f(x) = x% + 5. then
value of f~1(4) isequal to ...

{a) + 1 (by- 1 (c) ¢ (d) 20
I g:R > R is delined by g(x) =x°—2, then
value of g~ 1(23) isequal to ...

{a) 5 (b} 25 (¢c) x4 (dy 527
Let cardimality of A and B wre 3 and 10
respectively. The number ol one one functions

fromAoBis......
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20,

(21" by 2? (¢) 101 (d) 720
Let A = {1,2,3.4} and B = {a, b} are two sets. The
number of subjective mappings from A 1o B is ...
()14 (b 16 (c) 28 (d) 8!

. Let z = V3 + i be a complex number and Z be its

conjugate. The |argz] + |largZ | is equalto .......

" Zn i L
(cl]; (l‘J)T {L]E {d):
I7
(V3+i) . . )
. The T equal to ...
—1-43i 1+V3i
(1) =5 (b) —5
—1-\3i 1+43i
(¢) —5 {d}T
23, For which of the following value of x, the
L+iy " .
(T—:) =1lis......
(a) 29 (b) 35 (c)34 (d) 68

A w 1s a cube root of unity, then the value of

(1-w-—w?)(1+aw?)is ...

(a)?2 (b) 4 (C) w (d) w?

25. Let zbe a complex number. Which of the following

isasolutionof|jz| —z=1+2i{?

3 . 3.
[a|J5+21 (b)Z—Ea
3 N 3.
(cj;—z.t (d}2+£z

26. I sinf + cosec® = 1,then sin" € + cosec" 8 is

equal to ...

(a) 1 (b)y2 (2" (dy2" —1

. The value of sin®x + cos®x 4+ 3sinfxcos?x is
cqual to ......
(a) 3 (h2 ()1 (d)0

28. IF x = acos* @sin@ and y = asin® 8 cosd. then

(x% +y%)disequalto ......
(a) ax?

(b) a%x?y?
(d) a®(x% — y*)

. The minimum value of 3cos® + 4sinf + 10 is

equal o

(a) 5 (M9 (cr7 (dy3

. sin6"sin42"sin66" sin 78" isequal to ...

1 1 1 1
(;l]ﬁ (h)ﬁ {L]E (d)z

CIF 2097 term of an AP is 30 and its 30" term is 20,

then the 101 term is ... ..

(a) 40 (b) 10 (c) 20 (dy 30

4.

37.

38.

39.

40.

41.

2. Let sum of n terms of an AP is 2n(n — 1), then

the sum ol their squares 1s ...

() B2t 1) (b tnln=Vtzn=1)
{U}n(a|+L1;[2n+L} (d}ﬂrt{n+lj{2n+l}

. For what villue of X, the
log,(5.2% + 1), logs (2" + 1) and 1 are in AP ?
() log, 5 (b) logs 2
(c11+logy 5 (dy1—log, 5
If the ratio of sum of m terms and n terms of an

AP be m2:n2. then the ratio of the m!™ and n'"

termwill be ... ..
{a)ym:n
Ami+n:n+1

by2m-1:2n-1
{(dyn:m

. The value of 91/3 x 91/9 x 9L/27 % oois ... ..

(a) 3 (b)Y 9 (c) 1 (d) co

Il @ and Bare the roots of equation x? + px +

p® + g = 0. then the value a® + aff + 8%,

wp (b)-p (L)q (d)-q
If the of x*?—bx+c=0 two
consecutive numbers, then 6% —4¢ s equal 1o

roots dAre

{a) 1

(b)2 (c)3 (dy 4
The number of the real roots of the equation
(=10 4+ x-2)2+x-3¥=0is...
()0 (b) 1 (c)2 (d) 3
If the roots ol the equation

(b—c)x*+(c—a)x+(a—b)=0 be cquals.

thena, b, c are in ...

{a) HP (b) GP
{c) AP (d) None of these
If the cquations x?+2x+34=0 and

2x2 4+ 3x + 54 =0 have a4 non — zero commoen
root. then A 1s equal to ...

(i) {(b) -1 (c)2 (dy -2
It"P="P_, and "C ="C _.then (n,r)is ...

() (2.3 (b) (3.2)

(c) (4.3) (dy (3.4)

2. The number of arrangements of the letters of the

word BANANA in which the two N's do not
appear adjacently is ...
(a) 40 (b) 60

(c) &0 (d) 100
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41

44,

45.

46.

47.

48.

49,

0.

51

The sum (m+1) terms  of  the series

S .

> 3 + 1 : + 15

(@) — (b) -

1 i

(L]n[n+lj {d}{n+l){n+2}
1 o o

I[f w is a cube root of unity . then |1 w? 1 |is
w 1

cqual to ...

(2) w (b) w* ()0 (d) -3

If4 = [z i] and |4%| = 0. then x is equal to ...
(a) £2 (b) +3 (c) | (dy 4
Let A=i- j+k, C=—i = be 1wa vectors,
Which of the following is the vector B such that
AxB=CandA.B=1"

() i (b) k (Cy=j (dyi+j

A point P on y —axis is equidistance from the
points A(=5,4) and B = (3, =2). lts coordinate is

(0 i (02)
@(0) 0 (o)

The area of the triangle with vertices A(a, b + ¢),
B(b,c +a),C(c,a+b)iscqualto...

(a) 0 (byab + bc +eca
(ya+b+c (a+b-c
Two dices arc thrown simultaneously. The
probability of obtaining a total score of 5 1s ...

] I 1 1
() 5 (b}ﬁ ©)5 [djg

Three of the six vertices of a regular hexagon are
chosen at random. The probability that triangle
formed with these chosen vertices is equilateral.
equal 10 ...,

w: o OF (-
Minimum number of two-input NAND gates used
to perform the function of two-input OR gale is ...
(1) One (b) Two

(¢) Three (d) Four

2. The tme required for an electronic circuit to

change its state is called ...,
(a) Propagation time (b) Rise Time

53,

54.

56.

S7.

60.

61.

63.

64.

. Which of the following

(¢} Decay Time (d)y Changing Time
Which of the Tollowing is nol equivalent to x?
() x. x (byx+x

{e)x.1 (dyx+1

Which of the following is a sequential circuit?
{a) Adder (b) Decoder

{¢) Multiplexer (d) Flip Flop

. Which of the following will be the number of

output lines in a combinational circuit that takes
input a twe bit number and produce the output
cube of it?

(a)3 (b4 (c) 5 (d)6
Which of the following is a web browser?
{a) Avira (b) TrustPort
(¢} Opera (d) None of these
Which of the following is an operating system?
{a1) Baidu (b) Symbian
(¢} AVG (d) None of these
. Which of the following is antivirus soltware?
(a) Symbian (b) Norton
(c) AVG (d) None of these

. Which of the fellowing is a web search engine?

{a) Opera
(¢) AVG
Which of the lollowing s a social media website?
(b) Norton

(d) None of these

(b) Symbian
(d) None of these

(a) Tnstagram
{¢) Symbian
Z/0S is a

(a) PC operating system

{b) Mainframe operating system

(¢} Mobile operating system

(d) None of these

is a mobile operating
system’?

{a) Palm operating system

{by AVG

{¢) BeOS

(d} None ol these

Intel 808G is a bit microprocessor.

(a) 4 (b) 8 (c)16 (d) 32
Which ol the lollowing is mainlrame computer?
(a) Viech (b) Rabbit

{¢} Dubna (d) IBM Systeny/360)
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